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There is a 'cool off time' of 15 minutes in addition to the writing time of 2 hours.

Use the 'cool off time' to get familiar with questions and to plan your answers.

Read the questions carefully before answering

Calculations, figures and graphs should be shown in the answer sheet itself.

Malayalam version of the questions is also provided.

Give equations wherever necessary

Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall.

Use of statistical tables are allowed.
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Question number 1 to 12 carries 2 mark each. Answer any 10 questions (2 x 10 = 20)

G210330 1 MDD 12 WSO 2 MIBAS AflMo. aBOMEBILN0 10 G2103463BUIAE DOMONNYIM) .

1.

(@ The arithmetic mean of two 1.

(@ oM auoalyms)es 2owlo 25 9o

numbers is 25 and their harmonic a00@c206mle; 2owlo 23.04 9o

(b)

mean is 23.04. Find their Geometric
Mean.

The mode and mean of a
distribution are 32 and 35
respectively. Find the median value
using empirical relationship.

(b)

@RWOMGS RLODIGIVWRAIWL0 HeNMBYails]
B .

a0) almosmomload eaow 32 9o
20W}lo 35 9o @M. af)oailolen@d
NITWo 9alcWowla] AIWIWM & 6nB)
allS1en) .
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2. Match the following. 2. @alo)oals] Gal@ae)d:.

i. [CSO (@)| Nodal agency i. [CSO (a) | rvomunomomlead

of the state GMOALTS aRFER0B3av]

ii. | NSSO (b)| Compilation of ii. [NSSO (b) [ @800 1© @66 B

national accounts ®WI0HH®G

iii.| ISI (c) | Conducting socio iii. | 15T () | roozpeole, avomy

. OB TVBEQYBHUB
€conomic survey
MSOm)b>.

iv. Econom%cs‘ (d)| Publishing iv.| smomaemoaiss | (d) | avoosiyemadsmas
and Statistics Journal & quoglmyleay Latavlanle oleyan)
Department SANKHYA aflleao

3. State whether the following statements ®IOSAlOWIAD (alTT®OAUMH U WCIGWO
are True or False. OB o) (alT@ONEN)H.
(@) The value of standard deviation is (@) qomewada wlalewauead ailel
always positive. a)8ao%)0 Galdavlglal @rWIcles)o.
(b) If two variables are uncorrelated (b) aVaoENIMDO ML OME 2106BBB)HS
then covariance between them is CHOCAUGBIVMBI al)Rio @RHWIBIEe)o.
zero () 80600 alleIsBOSW)0 H)ES BEO LA
(c) If each observation is added by a qoaly &)51wom quomewadal
constant, Standard deviation wlaillewanad alleiloed mogQo 96r=o
remains the same afel
(d) Range doesn’t depend on extreme (d) eegomss aleiswd eovlaailom
values auwlmles)anlel.
4.  Which type of average is most suitable

for the following situations?

(@) To find the average performer in
light music competition

(b) To find the average size of
footwear.

(c) To find average speed of the metro
train from Alwaye to Maharajas
college Junction and return.

(d) To find the average percentage
increase of population of a country

for last 5 years

®o6® OANIBIBHNAN TVIa021046BBS|T Dal

GOOWIHNAD aBQaljo Dallm20W WO

aB©?

(@) 0) aglmwom aErEOMIeL! WO
(alhSMo MSOIY GO BHEIENOIN)

an@1a).

(b) al0BOSEHWEOS WOV GRBAT & 6NR)
allsleaym @la.

() eneso ®laknElw)es GRELNAI BT
D200 I RITY GHICBE =RoU) aUM
QAOOW)o G0l MBS VVOIUDG] BAIND
BOEBOMAN @M.

(d) a0) comyOmemR &$leom 5 QAIGaH

OO RMAVOLLTIOE! WOMROMBHETN
891288 AIBWMAilnng KwoIUO] HeeN3
o)A OIM.
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(@) For a lepto kurtic distribution the 5. (@) 80) eInicQosadsle: allmoemomlo
value of f,is ......cceunees B ,oload aial ..., @6
(i) lessthan3 (ii) more than 3 (i) 3 @ s)oai (ii) 3 @3 &S OB
(iii) 3 (iv) 0 (iii) 3 @iv)0
(b) For a distribution mean=20, mode (b) &0 almosmomlend 20w yo=20, enoaus
=23 and standard deviation =2. = 23, SD = 2. 600a0lauyd’ 00l
Compute Coefficient of skewness. M L INAS B6NR)aflS16) .
Biju travels to school from his home at | 6. snil®) alsled wlny aise,Sleelsss M km/
an average speed of M km/hr and hr woowel canoleny ®lola] N km/
comes back at an average speed of N hr ®woowel canmwilene aco alolenss
km/hr in the same route. Find the TVERIO1a)). BRYOD WO WOS 0O UDOI
average speed of total journey. CAUOD® HNR)allSle)d:.
Differentiate between absolute | 7. alcveagavemlonr @reniquely)s eacau
measures and relative measures of $av, oleaglal eaGauFMS aganlal caudml
dispersion. 01B6)S>.
The average wage of 25 employees ina 8. &0) smimlvleel 25 omoslensls:8)0s
factory is Rs. 780. But the wage of one 00020061 GAImMo 780 0)aIwosN’. 80} H®OY
employee was misread as 690 instead eglwes cammo 960 a3 als00 690 arw]
of 960, find the correct average wage. OMQOWV EOEIN SOOIV H06Mea]
510018103 OO WOl GAU®Mo & N3)all
Sloe) .
Explain the terms 9. ©009 a0 alBeBud ailvsle:0les)s:.
(@) Sample space (@ avomild aSealmd
(b) Mutually exclusive events (b) agauell agasaigmulail saiad ms
Ages of 7 members of a clubare 24,19, | 10. &) goavleel 7 aroveaBgles alwas 24,
30, 24, 26, 23, 25. Compute quartile 19, 30, 24, 26, 23, 25 @ryeny. AIWAVYHROS
deviation of ages. 10300503 AWIANEWAHD HEMBNOHN ).
Draw a histogram for the following data. 11. @amlelenam wogWes aoleqyowie Qo
WEDHS
No of students 20-30 | 30-40 [40-50 | 50-60 [ 60-70( 70-80
No of hostels 3 7 18 15 4 1
The grade points obtained by a student | 12. &0} a101e:u0I@3 aldyodLoles) I1Elay @KW

in an examination are given below.

Galo@ a0 ®aNIalen)an).

Malayalam English Hindi

Social Science

Science Mathematics

6 8 7

6

8 9

It is decided to give double weights to
subjects Social Science and Mathe-
matics. Find weighted average.

VOO VOOTV(@0, VEMBIMUIMS(@0 ag)aD']
QllaHEBBUEE DO MEIjo MEIG:O @10)
202 }0IB;1@3 HAUVIQAU @BAIGOEE &6t
BB .



13.

14.

15.

Paper Code No.: 31

Question number 13 to 24 carries 3 mark each. Answer any 10 questions (3 x 10 = 30)

(@) The branch of Statistics used to
determine the life table and
premiums in insurance sector are

(i) Bio statistics
(i) Agricultural statistics
(iii) Actuarial science
(iv) NSSO
(b) Write a short note on MOSPL

Which method is most suitable to
collect the data for each of the following
situations?

(@) Study the feasibility of starting a
production unit of a company in
your locality.

(b) Prepare a report for media on

under 17 football match held at

Cochin.

Study effectiveness of a face cream

manufactured by ABC Ltd,

Mumbai.

The following diagram represents the

monthly expenditure of two families A

and B.

©

14.

15.

G210340 13 MO 24 AUNO 3 MIBAS AWIMo. FODE®IEN0 10 G2I1IBY68B3U3AES) DOHOHDY) D).

13.

(@) Baryomay crarIVod R1N® als
»HW)o (allal®ano & eme)ailslenyan
@l qvaoo@lenian  qoglqylss ad
aflsovo
(D)

(i) @RWIen@ajomd quoglayle;m’

au@@og)};o@g}ﬁoeam

(iiil) @R a1)0lVO VWS
(iv) NSSO
(b) MOSPI 6@ #)0la] errens)ola] «f)$)
.
OIP OHIS)OD SOOI MVIa02I0 TN
QlQIGUELIEEMAMIM aQQaljo GRMIGWIRY
200 O aFo)?

(@) mlerges (ale3O 80) MI@2mosm
@G ®)SEBIANGIMIBS  TVLOWY G
OVENOla] alolee)an@Im.

(b) om02 101 msam  @peed 17

aN)SGENIVUE 2O OOMIHAG 20W D

016ajod3 @WO0IBHNIANGIIM.

() ABC eilalgals myossen mldenlsy 60)
GanM (> 12100G (2 16OBMOHOMEH)]a]

aloleoym@1m.

®OOPBHIS)O all(@o A, B agyam? oens
)S10NIBBRINS (al®IDOTV &alfIQ)d:Ud
& 06T1H0)aN).

=

Family A

%ﬂﬂﬂﬂﬂﬂﬂ

Family B

Food

(@) Name the diagram.

(b) Find the percentage expenditure of
education for Family A.

(c) If the total monthly expenditure of
Family B is Rs.6000 then find the
amount they spent for food.

(a)
(b) ®s)06ni0 A Wes alldyoeLdML ealel
alload MAIMo HeNMBYallSlan)d.

2l @OOBOG Gald alOW).

() ®s)oenio B s @esd (al®laoa
ealelal 6000 0)alwonemesl0d BmHemM

OO (o IGROTV HalelQl af)(@?
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The following distribution is the ages | 16. &0} ERWI@IVIGE 80) BlaiTvo aile:lor
of 360 patients getting medical a1glen)an 360 coovle:8)9s alwavlea
treatment in a hospital on a day. all®osmo 2jQIOS OHHIS)OMIBIENAM).
Age 0-10] 10-20]20-30{30-40|40-50(50-60[60-70
No of patients 75 25 45 50 80 55 30
Compute Modal age of patients. 60UB:2)9S AUVMIHMR GROW &6MBYalls]
B .
Mean of the data given below is 28. 17. 21j019S ©®0s5)0m WoQIHS 20Wio 28
Find the value of x. @REM. afEHled X g aflel S0
Profit per retail shop (in Rs) 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Number of retail shops 12 18 27 X 17 6
Prepare a questionnaire to study on | 18. sso0s800l0el a0@3 HaVSHMROI 310310
usage of social media among higher HB)OS TVOROLAOWLD DalGVINODNHN)
secondary students in Kerala. 0laj alole®0md G21085001ei]l MWONIBN)H:.
Construct the skeleton of a table to | 19. &) cowdaaVENMRO] M) SloR1 Ql3L0ALA
represent the details of students in a &3)105 AlAUEBWB (aIDIMIWe 6len)am
Higher Secondary School. alSlBW)OS 215865 BWIOIDN .
( Batch: Science, Commerce, Humanities ( Batch: Science, Commerce, Humanities
Class : Plus one, Plus two, Gender: Class : Plus one, Plus two, Gender:
Male, Female) Male ,Female)
In two factories A & B located in an 20. s0) QLIS (16300 A, B agyam?
industrial area, the mean weekly wages 0 HMMHB)OS (alD]AUO0 CAUD
(in rupees) and variance are as follows meEBx)es 20WLao AEIVWMaVlo (0)al
V@3) @anlclen)an).
Factory A | Factory B
No. of workers 50 60
Mean weekly wages| 810 960
Variance 100 144
Find out which factory has greater calO®m Al®osMOMIEd &)S)O@3 Tualom
consistency in wage distribution. @88 HMUM] GO HENBOD)S.
The following is the number of books 21. &a0) gomvleel 28 &)51e:0@ aln@la] oy
read by 28 students in a class. HEBRYOS af)flPo ®IN® OAVIBISHIAM),.
Books 0 1 2 3 4
No. of students 2 6 12 5 3

Calculate mean deviation about mode
of books read.

2o @RWI0:mds8 ] ATM@wla G aHad
BTN BN DHE) ).



22. In a distribution sum of upper and

23.

24.

25.

lower quartiles is 100, Median is 48 and
Bowleys coefficient of skewness is 0.2.
Calculate the values of upper and lower
quartiles.

(@) P (Sureevent)is...................

G 0
i) 0.5
(iii) 1

(iv) between 0 and 1

A box contains 7 red, 3 black and 6
blue balls. A ball is drawn at
random. Find the probability of
selecting

(i) a black ball

(ii) a ball which is not blue.

(b)

Draw rough frequency
representing symmetric, positively
skewed and negatively skewed
distributions and locate the values of
mean, median and mode.

curves
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22. 80) Al®mosmOmIed 6eIoald 10860653

23.

24.

@0l »10BONSM af)aTlUWOs @100
90 2lawlwmd 48 9o DI @HIWan]
oMY@ 30 MMV 0.2. 90 @RHWIG3
GRI0AIB H 108503, @Ra|d GHIBOHNHFEI
af)MIAUWOS QRIS HEMENIHN)ds.

(@) P (cmad maiad) = ..o

G 0
i) 0.5
(iii) 1

(iv) 0 mypo 1 myo snswlwd

(b) 7 anaiam alm&s)o 3 H0)0m aldm)
&80 6 Mlelalm>HB)o 988 Halgl
Wled mlanyo 00MBAWROW] 60) aloa
S)EN)AN). ®oeY ®aNIolema o1l
QI8 ol HDOOEDHSIBNN[SOMBS
TMoRAIL® (Galdenienileilgl) & ens)all
Sloe) .

(i) &0) SO0 Al

i) Mleloenom 80) olad)
= )

alasles, catoavlglal, emnglal ais ol
Al® M EBBUS & 0emMTHN AN  afjd» G3 U0
BRHAOM] HBAEHUE AUOVWEN)&. AOWYo,
2lawlomd, 2o af)anluW)es auoomo
@RS WOBHQ|S)O10)) .

Question number 25 to 27 carries 5 mark each. Answer any 2 questions (5 x 2 =10)

G2103Y0 25 MA@ 27 AUNO 5 MIBAS WMo, AFODE®IEN0 2 C21IBY6BBUIES DOHOHDNY) D).

The scores obtained by 40 students in
an examination are given below.

32 45 67 44 25
36 46 58 65 68
71 36 55 61 58
59 40 14 39 60

(@) Construct a frequency table to the
data with classes 10-20,20-30.....
(b) Find the median score.

25. 40 ailzyodLle:308) 830) alole:uod eiglay

53
78
23
41

MOBHO0)HUS 2jQIOS OBHOS)OMIGeeaN).

54 37 42 48
57 68 43 23
34 25 17 61
56 65 33 29

(a) 10-20, 20-30,
I3 @RAE®] algld: OWO00

...... GOTV)HUW QIO
BO) .

(b)

2lwlM@ OEHHB B6MB)ailSles)d.



26. Scores obtained by 30 students in an
examination are given below.

(a)

(b)
©

27. (a)

(b)
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26. 80) al01eu1©3 30 allzyodLble:WBes figlay

MOBHO0)HUS 2jQIOS OBHOS)OMIGeeaN).

Scores : 0-10 | 10-20 | 20-30 | 30-40 | 40-50

No. of students: 2 12 6 5
Find the number of students scored (@) 30 a5 @999 Mes08 emslw ailldyodLol
below 30. HBYOS af)ePO B TR NS1E0)5.
Draw less than Ogive for the data. (b) oe1n3B0M 86l QIOBH)H:.
How many students scores below (© 25 @ ®90% M08 eMSIW &)5leu3
25? af)(®?
Sum of absolute deviations of the | 27. (a) aleieg)es emalr! AyGIVWOMERR)HS
observations is minimum when the OB QAo H)OAIGIANE) QIYOIWO
deviations are taken about ........ MEBBAB ..o @ AT SHEMBNOHN)

GaUOPO6ID.
(i) Geometric mean (1) =020 20w
(i) Mean (H) Owé?
(iii) Mode (iif) - 200
(iv) Median (iv) oo
(b) ©99% 6605)OMEENMM WOIQWOS

Calculate the Standard deviation of

IROMEAWABAL AWIANEHIZ 06N,

the following data
Number of Children: | 1 3 4 5
Number of families : 7 6 2 1




